

Provided for non-commercial research and educational use. Not for reproduction, distribution or commercial use.
--

Mathematica Balkanica

Mathematical Society of South-Eastern Europe
A quarterly published by
the Bulgarian Academy of Sciences – National Committee for Mathematics

The attached copy is furnished for non-commercial research and education use only. Authors are permitted to post this version of the article to their personal websites or institutional repositories and to share with other researchers in the form of electronic reprints.

Other uses, including reproduction and distribution, or selling or licensing copies, or posting to third party websites are prohibited.

For further information on Mathematica Balkanica visit the website of the journal
<http://www.mathbalkanica.info>

or contact:

Mathematica Balkanica - Editorial Office;
Acad. G. Bonchev str., Bl. 25A, 1113 Sofia, Bulgaria
Phone: +359-2-979-6311, Fax: +359-2-870-7273,
E-mail: balmat@bas.bg

A New Class of Analytic Functions with Negative Coefficients

Muhammet Kamali, Ekrem Kadioğlu

Presented by V. Kiryakova

A subclass $P(n, \lambda, \alpha, r)$ of analytic functions in the unit disk is introduced. The object of the present paper is to show some properties of functions belonging to the class $P(n, \lambda, \alpha, r)$.

AMS Subj. Classification: 30C45

Key Words: univalent functions, Hadamard product

1. Introduction

Let $A(n)$ denote the class of functions of the form

$$f(z) = z - \sum_{k=n+1}^{\infty} a_k z^k \quad (a_k \geq 0; \ n \in \mathcal{N} = \{1, 2, \dots\})$$

that are analytic in the unit disk $U = \{z : |z| < 1\}$. A function $f(z) \in A(n)$ is said to be in the class $P(n, \lambda, \alpha, r)$ if it satisfies

$$\operatorname{Re}\left\{z \frac{(\lambda r z^{r-1} + 1 - \lambda)f'(z) + \lambda z^r f''(z)}{\lambda z^r f'(z) + (1 - \lambda)f(z)}\right\} > \alpha, \quad (r = 1, 2, \dots)$$

for some α ($0 \leq \alpha < 1$), λ ($0 \leq \lambda \leq 1$) and for all $z \in U$.

We note that $P(n, \lambda, \alpha, 1) \equiv P(n, \lambda, \alpha)$, $P(n, 0, \alpha, 1) \equiv T_\alpha(n)$, $P(n, 1, \alpha, 1) \equiv C_\alpha(n)$, $P(1, 0, \alpha, 1) \equiv T^*(\alpha)$ and $P(1, 1, \alpha, 1) \equiv C(\alpha)$. The class $P(n, \lambda, \alpha)$ was studied by Altıntaş [1]. The classes $T_\alpha(n)$ and $C_\alpha(n)$ were studied by Srivastava, Owa and Chatterjea [3], and the classes $T^*(\alpha)$ and $C(\alpha)$ were studied by Silverman [2]. Therefore, our class $P(n, \lambda, \alpha, r)$ is the generalization of $P(n, \lambda, \alpha)$ by Altıntaş [1], and of $T_\alpha(n)$ and $C_\alpha(n)$ by Srivastava, Owa and Chatterjea [3] and of $T^*(\alpha)$ and $C(\alpha)$ by Silverman [2].

2. Some results for the class $P(n, \lambda, \alpha, r)$

Theorem 1. A function $f(z) \in A(n)$ is in the class $P(n, \lambda, \alpha, r)$ if and only if

$$(1) \quad \sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]a_k \leq (1 - \alpha) + \lambda(r - 1).$$

Proof. Let $f(z) \in P(n, \lambda, \alpha, r)$. We can write

$$\operatorname{Re}\left\{z \frac{(\lambda r z^{r-1} + 1 - \lambda)f'(z) + \lambda z^r f''(z)}{\lambda z^r f'(z) + (1 - \lambda)f(z)}\right\} > \alpha.$$

Then,

$$\begin{aligned} & \frac{[\lambda r z^{r-1} + (1 - \lambda)][z - \sum_{k=n+1}^{\infty} k a_k z^k] + \lambda z^{r+1}[-\sum_{k=n+1}^{\infty} k(k-1)a_k z^{k-2}]}{\lambda z^r[1 - \sum_{k=n+1}^{\infty} k a_k z^{k-1}] + (1 - \lambda)[z - \sum_{k=n+1}^{\infty} a_k z^k]} \\ &= \frac{\lambda r z^r + (1 - \lambda)z - \sum_{k=n+1}^{\infty} [\lambda r k + \lambda k^2 - \lambda k] a_k z^{k+r-1} - \sum_{k=n+1}^{\infty} (1 - \lambda) k a_k z^k}{\lambda z^r + (1 - \lambda)z - \sum_{k=n+1}^{\infty} [\lambda k a_k z^{k+r-1} - \sum_{k=n+1}^{\infty} (1 - \lambda) a_k z^k]}. \end{aligned}$$

If we choose z real and let $z \rightarrow 1^-$, we get

$$\sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]a_k \leq (1 - \alpha) + \lambda(r - 1).$$

Now, let the function $f(z) \in A(n)$ satisfy the condition (1). Then, we show that $f(z) \in P(n, \lambda, \alpha, r)$. First, we can write

$$\begin{aligned} & \left| z \frac{(\lambda r z^{r-1} + 1 - \lambda)f'(z) + \lambda z^r f''(z)}{\lambda z^r f'(z) + (1 - \lambda)f(z)} - 1 \right| \\ & \leq \left\{ \left| \sum_{k=n+1}^{\infty} [(r - 1)\lambda k + \lambda k(k - 1)]a_k z^{k+r-1} \right. \right. \\ & \quad \left. \left. + \sum_{k=n+1}^{\infty} [(1 - \lambda)k - (1 - \lambda)]a_k z^k - (r - 1)\lambda z^r \right| \right\} / \\ & \quad \left\{ \left| \lambda z^r + (1 - \lambda)z \right| - \left| \sum_{k=n+1}^{\infty} \lambda k a_k z^{k+r-1} + \sum_{k=n+1}^{\infty} (1 - \lambda) a_k z^k \right| \right\}. \end{aligned}$$

If we take limit for $z \rightarrow 1^-$ in the inequality, we obtain

$$\left| z \frac{(\lambda r z^{r-1} + 1 - \lambda)f'(z) + \lambda z^r f''(z)}{\lambda z^r f'(z) + (1 - \lambda)f(z)} - 1 \right| \leq 1 - \alpha,$$

or

$$\operatorname{Re}\left\{z \frac{(\lambda r z^{r-1} + 1 - \lambda)f'(z) + \lambda z^r f''(z)}{\lambda z^r f'(z) + (1 - \lambda)f(z)}\right\} \geq \alpha.$$

Then $f(z) \in P(n, \lambda, \alpha, r)$.

Theorem 2. *Let the functions*

$$f(z) = z - \sum_{k=n+1}^{\infty} a_k z^k$$

and

$$g(z) = z - \sum_{k=n+1}^{\infty} b_k z^k$$

be in the class $P(n, \lambda, \alpha, r)$. Then for $0 \leq \xi \leq 1$

$$h(z) = (1 - \xi)f(z) + \xi g(z) = z - \sum_{k=n+1}^{\infty} c_k z^k \quad (c_k \geq 0)$$

is in the class $P(n, \lambda, \alpha, r)$.

Proof. Suppose that $f(z), g(z) \in P(n, \lambda, \alpha, r)$. Then we have from Theorem 1,

$$\sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]a_k \leq (1 - \alpha) + \lambda(r - 1)$$

and

$$\sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]b_k \leq (1 - \alpha) + \lambda(r - 1).$$

We can see that

$$\begin{aligned} & \sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]c_k \\ &= \sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)][(1 - \xi)a_k + \xi b_k] \\ &= (1 - \xi) \sum_{k=n+1}^{\infty} [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]a_k \end{aligned}$$

$$\begin{aligned}
& + \sum_{k=n+1}^{\infty} [(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)]b_k \\
& \leq (1-\xi)[(1-\alpha) + \lambda(r-1)] + \xi[(1-\alpha) + \lambda(r-1)] \\
& = (1-\alpha) + \lambda(r-1)
\end{aligned}$$

which completes the proof of Theorem 2.

Theorem 3. If $f(z) \in P(n, \lambda, \alpha, r)$, then $f(z) \in P(n, \lambda, \beta)$, where

$$\beta = 1 - \frac{(\lambda n + 1)[(1-\alpha) + \lambda(r-1)]}{(1-r)\lambda^2 + (n+r-1)\lambda + 1}.$$

Proof. If $f(z) \in P(n, \lambda, \alpha, r)$, then

$$(2) \quad \sum_{k=n+1}^{\infty} [(k-\beta)(\lambda k - \lambda + 1)]a_k \leq 1 - \beta.$$

If $f(z) \in P(n, \lambda, \alpha, r)$, then

$$(3) \quad \sum_{k=n+1}^{\infty} [(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)]a_k \leq (1-\alpha) + \lambda(r-1).$$

It is sufficient to show that (3) implies (2), that is, that

$$(4) \quad \frac{(k-\beta)(\lambda k - \lambda + 1)}{1-\beta} \leq \frac{(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\alpha) + \lambda(r-1)} \quad (k \geq n+1)$$

Since (4) is equivalent to

$$\begin{aligned}
(5) \quad \beta & \leq 1 - \frac{(\lambda k - \lambda + 1)[(1-\alpha) + \lambda(r-1)]}{(\lambda k - \lambda + 1) + \lambda(1-\alpha)(r-1)} \quad (k \geq n+1) \\
& \equiv \phi(k)
\end{aligned}$$

and $\phi(k) \geq \phi(n+1)$ ($k \geq n+1$), (4) holds true for any $k \geq n+1$, $0 \leq \alpha < 1$ and $0 \leq \lambda \leq 1$. Then we obtain

$$\beta = 1 - \frac{(\lambda n + 1)[(1-\alpha) + \lambda(r-1)]}{(1-r)\lambda^2 + (n+r-1)\lambda + 1}$$

for $k = n+1$.

Theorem 4. If $f(z) \in P(n, \lambda, \alpha, r)$, then

$$\begin{aligned} |z| &= \frac{(1-\alpha) + \lambda(r-1)}{(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)} |z|^{n+1} \\ (6) \quad &\leq |f(z)| \leq |z| + \frac{(1-\alpha) + \lambda(r-1)}{(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)} |z|^{n+1} \end{aligned}$$

and

$$\begin{aligned} 1 &= \frac{(n+1)(1-\alpha) + \lambda(r-1)}{(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)} |z|^n \\ (7) \quad &\leq |f'(z)| \leq 1 + \frac{(n+1)(1-\alpha) + \lambda(r-1)}{(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)} |z|^n \end{aligned}$$

for $z \in U$.

Proof. We note that

$$\begin{aligned} &[(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)] \sum_{k=n+1}^{\infty} a_k \\ &\leq \sum_{k=n+1}^{\infty} [(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)] a_k \\ (8) \quad &\leq (1-\alpha) + \lambda(r-1) \end{aligned}$$

and

$$\begin{aligned} &\frac{[(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)]}{n+1} \sum_{k=n+1}^{\infty} k a_k \\ &\leq \sum_{k=n+1}^{\infty} [(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)] a_k \\ (9) \quad &\leq (1-\alpha) + \lambda(r-1). \end{aligned}$$

Therefore, (6) follows (8) and (7) follows (9). Equalities in (6) and (7) are attained for the functions $f(z)$ given by

$$f(z) = z - \frac{(1-\alpha) + \lambda(r-1)}{(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)} z^{n+1}.$$

Definition: Modified Hadamard product. For functions

$$f_j(z) = z - \sum_{k=n+1}^{\infty} a_{k,j} z^k \quad (j = 1, 2)$$

in the class $A(n)$, we define the modified product $f_1 * f_2(z)$ of $f_1(z)$ and $f_2(z)$ by

$$f_1 * f_2(z) = z - \sum_{k=n+1}^{\infty} a_{k,1} a_{k,2} z^k.$$

Then, we prove

Theorem 5. If $f_j(z) \in P(n, \lambda, \alpha, r)$, $j = 1, 2$, then $f_1 * f_2(z) \in P(n, \lambda, \alpha, r)$, where

$$\beta = \frac{(\lambda r - \lambda + 1)[(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)]^2}{[(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)]^2 - (\lambda n+1)[(1-\alpha) + \lambda(r-1)]^2} \\ - \frac{[(n+1)(\lambda n+1) + \lambda(n+1)(r-1)][(1-\alpha) + \lambda(r-1)]^2}{[(n+1-\alpha)(\lambda n+1) + \lambda(n+1)(r-1)]^2 - (\lambda n+1)[(1-\alpha) + \lambda(r-1)]^2}. \quad (10)$$

Proof. Since, for $f_j(z) \in P(n, \lambda, \alpha, r)$

$$(11) \quad \sum_{k=n+1}^{\infty} \frac{(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\alpha) + \lambda(r-1)} a_{k,j} \leq 1 \quad (j = 1, 2)$$

the Cauchy-Schwarz inequality leads to

$$(12) \quad \sum_{k=n+1}^{\infty} \frac{(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\alpha) + \lambda(r-1)} \sqrt{a_{k,1} a_{k,2}} \leq 1.$$

Note that we have to find the largest β such that

$$(13) \quad \sum_{k=n+1}^{\infty} \frac{(k-\beta)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\beta) + \lambda(r-1)} a_{k,1} a_{k,2} \leq 1$$

Therefore, in view of (12) and (13), if

$$(14) \quad \frac{(k-\beta)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\beta) + \lambda(r-1)} \sqrt{a_{k,1} a_{k,2}} \\ \leq \frac{(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)}{(1-\alpha) + \lambda(r-1)},$$

then (13) is satisfied. We have, from (12)

$$(15) \quad \sqrt{a_{k,1} a_{k,2}} \leq \frac{(1-\alpha) + \lambda(r-1)}{(k-\alpha)(\lambda k - \lambda + 1) + \lambda k(r-1)} \quad (k \geq n+1).$$

Thus, if

$$(16) \quad \frac{(k - \beta)(\lambda k - \lambda + 1) + \lambda k(r - 1)}{(1 - \beta) + \lambda(r - 1)} \left[\frac{(1 - \alpha) + \lambda(r - 1)}{(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)} \right] \\ \leq \frac{(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)}{(1 - \alpha) + \lambda(r - 1)}, \quad (k \geq n + 1)$$

or, if

$$\beta \leq \frac{(\lambda r - \lambda + 1) [(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2}{[(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2 - (\lambda k - \lambda + 1)[(1 - \alpha) + \lambda(r - 1)]^2} \\ - \frac{[k(\lambda k - \lambda + 1) + \lambda k(r - 1)][(1 - \alpha) + \lambda(r - 1)]^2}{[(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2 - (\lambda k - \lambda + 1)[(1 - \alpha) + \lambda(r - 1)]^2}$$

then (13) is satisfied. Letting

$$\phi(k) = \frac{(\lambda r - \lambda + 1)[(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2}{[(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2 - (\lambda k - \lambda + 1)[(1 - \alpha) + \lambda(r - 1)]^2} \\ - \frac{[k(\lambda k - \lambda + 1) + \lambda k(r - 1)][(1 - \alpha) + \lambda(r - 1)]^2}{[(k - \alpha)(\lambda k - \lambda + 1) + \lambda k(r - 1)]^2 - (\lambda k - \lambda + 1)[(1 - \alpha) + \lambda(r - 1)]^2},$$

we see that $\phi(k)$ is increasing on k . This implies that

$$\beta \leq \phi(n + 1) \\ = \frac{(\lambda r - \lambda + 1)[(n + 1 - \alpha)(\lambda n + 1) + \lambda(n + 1)(r - 1)]^2}{[(n + 1 - \alpha)(\lambda n + 1) + \lambda(n + 1)(r - 1)]^2 - (\lambda n + 1)[(1 - \alpha) + \lambda(r - 1)]^2} \\ - \frac{[(n + 1)(\lambda n + 1) + \lambda(n + 1)(r - 1)][(1 - \alpha) + \lambda(r - 1)]^2}{[(n + 1 - \alpha)(\lambda n + 1) + \lambda(n + 1)(r - 1)]^2 - (\lambda n + 1)[(1 - \alpha) + \lambda(r - 1)]^2},$$

which completes the proof of our theorem.

Finally, by taking the functions

$$f_j(z) = z - \frac{(1 - \alpha) + \lambda(r - 1)}{(n + 1 - \alpha)(\lambda n + 1) + \lambda(n + 1)(r - 1)} z^{n+1} \quad (j = 1, 2),$$

we can see that the result is sharp.

Remark: If we take $r = 1$ in Theorem 5, then we have the result by Altıntaş [1, Theorem 4]. If we take $r = 1$ and $\lambda = 0$ in Theorem 5, then we have the result by Srivastava, Owa and Chatterjea [3, Theorem 4].

References

- [1] O. Altıntaş. On a subclass of certain starlike functions with negative coefficients. *Math. Japonica*, **36**, No.3, 1991, 489-495.
- [2] H. Silverman. Univalent functions with negative coefficients. *Proc. Amer. Math. Soc.*, **51**, 1975, 109-116.
- [3] H.M. Srivastava, S. Owa, S.K. Chatterjea. A note on certain classes of starlike functions. *Rend. Sem. Math. Univ. Padova*, **77**, 1987, 115-124.

Atatürk University
Science and Arts Faculty
Department of Mathematics
25240 Erzurum, TURKEY

Received: 12.09.1996